	Name _____________________________ 
	
	
	Date ___________________ 
(Answer ID # 0274128)


Mixed Review
Fill in the missing number. 

	1.  

	43
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	2.  
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Order the fractions from least to greatest. 

	5.  

	5
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7
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Write each mixed number as an improper fraction in simplest form. 

	11.  

	1

1
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Complete. 

	19.  

	Morgan is making chocolate milkshakes for Makayla's birthday party. There will be fourteen people at the party. It takes half of a cup of milk to make one chocolate milkshake. How many cups of milk will it take to make fourteen milkshakes?



	
	20.  

Abigail found a recipe for baked Indian pudding online. The recipe called for half of a cup of maple syrup, half of a cup of light molasses, and one-fourth of a cup of brown sugar. How much "sweet stuff" would be needed to make the recipe?





Multiply. Write the answer in simplest form. 

	21.  

	1
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Fill in the missing number. 

	24.  

	5
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[image: image51.png]



30

  =  

[image: image52.jpg]



[image: image53.png]



2


	26.  
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Solve. Write the answer in simplest form. 

	27.  

	e
  ÷  

7

6
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Add or subtract. Write the answer in simplest form. 

	29.  

	11
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8
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	Answer Key 0274128


	Fill in the missing number.



	1. 

	43
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Order the fractions from least to greatest.
	5. 

	5 
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Write each mixed number as an improper fraction in simplest form.
	11. 

	1

1
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	Answer Key 0274128


	Complete.



	19. 

	Morgan is making chocolate milkshakes for Makayla's birthday party. There will be fourteen people at the party. It takes half of a cup of milk to make one chocolate milkshake. How many cups of milk will it take to make fourteen milkshakes?


7 cups


	
	20. 

Abigail found a recipe for baked Indian pudding online. The recipe called for half of a cup of maple syrup, half of a cup of light molasses, and one-fourth of a cup of brown sugar. How much "sweet stuff" would be needed to make the recipe?


1 1/4 cups




Multiply. Write the answer in simplest form.
	21. 

	1
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Fill in the missing number.
	24. 

	5
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	Answer Key 0274128


	Solve. Write the answer in simplest form.



	27. 

	e
  ÷  

7

6
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Add or subtract. Write the answer in simplest form.
	29. 

	11
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